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Area	and	perimeter	of	irregular	polygons	worksheet

Show	All	Workout	Find	the	area	of	the	given	shape6	in3	in8	inArea	=	82	in2Solution6	in3	in8	inThe	given	Shape	=	Rectangle	(B)	+	Square	(A)Area	of	Rectangle	(B)=	l	x	b	=	6	x	3	=	18	inArea	of	Square	(A)	=	side2=	82	=	64	inArea	of	given	Shape	=	64	in	+	18	in=	82	in2	Find	the	area	of	the	given	shape14	in9	in8	in3	inArea	=	316	in2Solution14	in9	in8
in3	inThe	given	Shape	=	3	Rectangle	(A,B,C)Area	of	Rectangle	A	&	B	=	(lxb)	+	(lxb)	=	2(lxb)=	2	x	(14	x	9)=	252	inTo	find	the	Area	of	Rectangle	C,	Find	the	length	of	the	Rectangle	CLength	=	14	-	(2	x	3)	=	8	in	Area	of	Rectangle	C	=	8	x	8	=	64	in	Area	of	Given	Shape	=	252	+	64	=	316	in2	Find	the	area	of	the	given	shape10	in5	in13	in8	inArea	=	154
in2Solution10	in5	in13	in8	inThe	given	Shape	=	2	Rectangle	(A,B)Area	of	Rectangle	(A)	=	10	x	5	=	50	in	Area	of	Rectangle	(B)	=	8	x	13	=	104	in	Area	of	given	Shape	=	50	+	104=	154	in2	Find	the	area	of	the	given	shape10	in11	in4	in15	inArea	=	170	in2Solution10	in11	in4	in15	inThe	given	Shape	=	2	Rectangle	(A,B)Area	of	Rectangle	(A)	=	10	x	11	=
110	in	Area	of	Rectangle	(B)	=	15	x	4	=	60	in	Area	of	given	Shape	=	110	+	60=	170	in2	Find	the	area	of	the	given	shape13	in10	in18	in9	inArea	=	292	in2Solution13	in10	in18	in9	inThe	given	Shape	=	2	Rectangle	(A,B)Area	of	Rectangle	(A)	=	13	x	10	=	130	in	Area	of	Rectangle	(B)	=	9	x	18	=	162	in	Area	of	given	Shape	=	130	+	162=	292	in2	Find	the
area	of	the	given	shape15	in9	in5	in12	inArea	=	195	in2Solution15	in9	in5	in12	inThe	given	Shape	=	2	Rectangle	(A,B)Area	of	Rectangle	(A)	=	15	x	9	=	135	in	Area	of	Rectangle	(B)	=	12	x	5	=	60	in	Area	of	given	Shape	=	135	+	60=	195	in2	Find	the	area	of	the	given	shape12	in5	in7	in3	inArea	=	162	in2Solution12	in5	in7	in3	inThe	given	Shape	=	3
Rectangle	(A,B,C)Area	of	Rectangle	A	&	B	=	(lxb)	+	(lxb)	=	2(lxb)=	2	x	(12	x	5)=	120	inTo	find	the	Area	of	Rectangle	C,	Find	the	breadth	of	the	Rectangle	Cbreadth	=	12	-	(2	x	3)	=	6	in	Area	of	Rectangle	C	=	6	x	7	=	42	in	Area	of	Given	Shape	=	120	+	42	=	162	in2	Find	the	area	of	the	given	shape9	in8	in4	in24	inArea	=	184	in2Solution9	in8	in4	in24
inThe	given	Shape	=	3	Rectangle	(A,B,C)Area	of	Rectangle	A	&	B	=	(lxb)	+	(lxb)	=	2(lxb)=	2	x	(9	x	8)=	144	inTo	find	the	Area	of	Rectangle	C,	Find	the	breadth	&	length	of	the	Rectangle	CBreadth	=	9	-	4	=	5	in	Length	=	24	-	(2	x	8)	=	8	inArea	of	Rectangle	C	=	5	x	8	=	40Area	of	given	shape	=	144+40=	184	in2	Find	the	area	of	the	given	shape13	in8
in9	in3	inArea	=	298	in2Solution13	in8	in9	in3	inThe	given	Shape	=	3	Rectangle	(A,B,C)Area	of	Rectangle	A	&	B	=	(l	x	b)	+	(l	x	b)	=	2(lxb)=	2	xx	(13	x	8)=	208To	find	Area	of	the	Rectangle	C	,Find	breadthbreadth	=	13	-	3=	10	in	Area	of	the	Rectangle	C	=	9	x	10	=	90	in	Area	of	the	given	Shape	=	208	+	90=	298	in2	Find	the	area	of	the	given	shape7
in10	in15	inArea	=	110	in2Solution7	in10	in15	inThe	given	Shape	=	Rectangle	+	TriangleArea	of	Rectangle	=	7	x	10	=	70	in	To	find	the	area	of	rectangle,	Find	the	basebase	=	15	-	7	=	8	inArea	of	the	triangle	=	12x	b	x	h=	40	inArea	of	the	given	shape	=	70	+	40	in=	110	in2	Find	the	perimeter	of	the	given	shape8	in5	in5	in8	in6	inPerimeter	=	32
inSolutionPerimeter	=	8	+	5	+	5	+	8	+	6	=	32	in∴	32	in	is	the	perimeter	of	the	given	shape	Find	the	perimeter	of	the	given	shape10	in4	in10	in18	inPerimeter	=	42	inSolutionPerimeter	=	10	+	4	+	10	+	18	=	42	in∴	42	in	is	the	perimeter	of	the	given	shape	Find	the	perimeter	of	the	given	shape14	in2	in9	in9	in2	in14	inPerimeter	=	50
inSolutionPerimeter	=	14	+	2	+	9	+	9	+	2	+	14	=	50	in∴	50	in	is	the	perimeter	of	the	given	shape	Find	the	perimeter	of	the	given	shape10	in9	in10	in3	in7	in12	in7	in3	inPerimeter	=	61	inSolutionPerimeter	=	10	+	9	+	10	+	3	+	7	+	12	+	7	+	3	=	61	in∴	61	in	is	the	perimeter	of	the	given	shape	Find	the	perimeter	of	the	given	shape7	in2	in5	in6	in5	in2
in7	in2	in5	in6	in5	in2	inPerimeter	=	54	inSolutionPerimeter	=	7	+	2	+	5	+	6	+	5	+	2	+	7	+	2	+	5	+	6	+	5	+	2	=	54	in∴	54	in	is	the	perimeter	of	the	given	shape	Find	the	perimeter	of	the	given	shape3	in7	in3	in4	in4	in17	in4	in4	inPerimeter	=	46	inSolutionPerimeter	=	3	+	7	+	3	+	4	+	4	+	17	+	4	+	4	=	46	in∴	46	in	is	the	perimeter	of	the	given	shape
Find	the	perimeter	of	the	given	shape8	in4	in5	in5	in5	in4	in8	in8	inPerimeter	=	47	inSolutionPerimeter	=	8	+	4	+	5	+	5	+	5	+	4	+	8	+	8	=	47	in∴	47	in	is	the	perimeter	of	the	given	shape	Find	the	perimeter	of	the	given	shape14	in6	in7	in10	in7	in6	in14	in6	in7	in10	in7	in6	inPerimeter	=	100	inSolutionPerimeter	=	14	+	6	+	7	+	10	+	7	+	6	+	14	+	6	+
7	+	10	+	7	+	6	=	100	in∴	100	in	is	the	perimeter	of	the	given	shape	Find	the	perimeter	of	the	given	shape10	in4	in7	in6	in7	in4	in10	in10	inPerimeter	=	58	inSolutionPerimeter	=	10	+	4	+	7	+	6	+	7	+	4	+	10	+	10	=	58	in∴	58	in	is	the	perimeter	of	the	given	shape	Find	the	perimeter	of	the	given	shape5	in6	in5	in5	in2	in10	in2	in5	inPerimeter	=	40
inSolutionPerimeter	=	5	+	6	+	5	+	5	+	2	+	10	+	2	+	5	=	40	in∴	40	in	is	the	perimeter	of	the	given	shape	Want	to	help	support	the	site	and	remove	the	ads?	Become	a	patron	via	patreon	or	donate	through	paypal.	Copyright	©	2021	K5	Learning	This	shape	is	a	quadrilateralA	quadrilateral	is	a	shape	with	four	sides.	because	it	has	four	sides.	Even
though	two	of	its	sides	are	both	5	cm,	it	is	an	irregular	quadrilateral	because	not	all	of	its	sides	are	the	same	length.	To	find	the	perimeter	of	this	irregular	shape,	we	add	up	the	four	side	lengths.	We	make	the	calculation	easier	by	starting	with	the	largest	sides	and	also	looking	for	number	bonds	to	tenNumber	bonds	to	ten	are	pairs	of	numbers	that
add	to	make	10..	The	two	largest	sides	are	14	cm	and	12	cm.	These	add	together	to	make	26	cm.	The	two	remaining	sides	are	5	cm	and	5	+	5	=	10,	using	number	bonds.	26	cm	+	10	cm	=	36	cm.	The	perimeter	of	this	irregular	quadrilateral	is	36	cm.	To	find	the	perimeter	of	an	irregular	shape	you	simply	add	up	the	outer	side	lengths	of	the	shape.	In
this	lesson	we	will	look	at	some	examples	of	irregular	shapes	and	learn	how	to	calculate	their	perimeters.	A	regular	shape	is	a	shape	in	which	every	side	is	the	same	length.	All	of	its	angles	will	also	be	the	same	size.	An	irregular	shape	is	simply	any	shape	where	not	all	of	the	side	lengths	and	angles	are	the	same.	An	irregular	shape	is	any	shape	that	is
not	regular.	We	name	irregular	shapes	based	on	how	many	sides	they	have.	Since	the	number	of	corners	a	shape	has	is	the	same	as	the	number	of	its	sides,	we	can	also	name	a	shape	by	how	many	corners	it	has.	Below	are	some	common	examples	of	irregular	shapes	arranged	in	a	list	with	their	properties	shown.	When	teaching	irregular	shapes	it	is
important	to	be	aware	of	a	common	mistake.	People	sometimes	think	that	for	a	shape	to	be	irregular,	all	of	its	sides	have	to	be	different	to	each	other.	However,	a	shape	is	irregular	if	it	has	at	least	one	side	that	is	of	a	different	length	to	any	of	the	other	sides.	For	example,	a	triangle	can	have	two	sides	that	are	the	same,	but	just	one	side	that	is
different	to	the	other	two	sides	and	it	is	an	irregular	shape.	Below	are	some	examples	of	irregular	shapes.	The	perimeter	of	a	shape	is	the	total	distance	around	its	outside	edges.	To	calculate	the	perimeter	of	a	shape,	we	add	the	lengths	of	each	side.	Here	is	an	example	of	finding	the	perimeter	of	an	irregular	triangle:	To	find	the	perimeter	of	this
irregular	triangle,	we	add	up	the	three	side	lengths.	A	tip	for	teaching	perimeter	of	irregular	shapes	is	to	cross	off	each	side	length	as	you	have	added	it.	A	common	mistake	for	children	calculating	perimeter	is	that	they	miss	a	side	out	completely	or	count	a	side	more	than	once.	I	recommend	that	to	avoid	this	mistake,	you	could	teach	the	child	to	pick
a	corner	to	start	at.	Move	around	the	outside	of	the	shape	and	cross	off	the	sides	as	you	add	them	if	they	are	simple	enough	for	your	child	to	add.	You	could	draw	around	the	original	shape	as	you	go,	or	highlight	each	side,	until	you	are	back	where	you	started.	However	for	some	questions	with	larger	numbers,	this	could	result	in	calculations	that	are
not	always	the	easiest	to	do	first.	You	could	instead	look	for	sides	that	add	up	to	easier	numbers,	such	as	using	number	bonds	and	then	just	cross	these	sides	off	as	you	add	them.	In	this	example,	we	only	have	three	sides	so	we	will	just	cross	the	sides	off	as	we	add	them.	8	+	10	=	18	18	+	5	=	23	The	perimeter	of	this	triangle	is	23	mm.	Remember	that
perimeter	is	a	measure	of	the	total	outside	length	of	the	shape	and	the	answer	that	we	get	is	a	measurement	of	length.	Therefore	our	units	of	measurement	are	going	to	be	length	units.	Since	in	our	example	we	have	measured	each	side	in	millimetres	(mm),	we	have	added	up	a	total	length	in	millimetres	also.	We	write	an	‘mm’	after	23	to	show	that	we
have	23	millimetres.	‘mm’	is	a	short	way	of	writing	millimetres.	In	the	same	way	that	we	put	a	space	between	’23’	and	the	word	‘millimetres’,	we	put	a	space	in	between	’23’	and	‘mm’.	We	wouldn’t	write	’23millimetres’	we	would	write	’23	millimetres’	and	in	the	same	way	we	write	’23	mm’	not	’23mm’.	This	rule	of	leaving	a	space	applies	to	all	units	of
measurement.	Here’s	another	example	of	finding	the	perimeter	of	an	irregular	pentagon:	As	we	said	previously,	this	shape	will	be	irregular	because	not	all	of	its	sides	are	the	same.	Even	though	it	has	two	sides	that	are	the	both	13	metres,	it	has	three	others	sides	that	are	all	different	to	this.	It	is	not	regular,	it	is	irregular.	To	find	the	perimeter	of	this
pentagon,	we	add	the	lengths	of	each	side	together.	To	make	sure	that	we	don’t	add	a	side	more	than	once,	we	will	cross	out	the	sides	when	we	add	them.	We	will	also	make	sure	that	we	write	down	our	calculations	to	avoid	making	mistakes.	The	side	lengths	are	in	metres.	Instead	of	writing	the	word	‘metres’	next	to	every	number,	it	is	quicker	and
easier	to	write	‘m’.	‘m’	is	the	abbreviation	of	‘metres’	and	we	write	our	number,	then	a	space	and	then	‘m’.	We	can	start	with	the	two	largest	sides,	since	these	will	not	be	particularly	nice	to	add	later	to	an	already	large	number.	The	two	largest	sides	are	both	13	metres	long	and	because	we	have	two	of	them,	it	means	that	we	can	double	13	to	get	our
answer.	Doubling	is	generally	an	easier	strategy	to	use	than	addition	and	it	is	another	tip	to	look	out	for	when	approaching	these	perimeter	calculations.	We	can	look	for	any	sides	that	are	the	same	and	multiply	the	length	by	how	many	sides	have	this	length.	13	+	13	=	26			(or	13	x	2	=	26)	Next	we	can	see	that	we	have	a	number	bond	to	10.	We	have
2	m	and	8	m.	We	can	add	these	two	sides	together	first.	8	+	2	=	10	Ten	is	an	easier	number	to	work	with	and	to	add.	Adding	ten	simply	involves	adding	one	more	to	our	tens	column.	We	try	and	look	for	pairs	of	sides	that	will	add	to	make	ten	if	we	can.	Now	we	add	our	final	side,	9	m.	26	+	10	+	9	=	45	An	easy	way	to	do	this	calculation	is	that	10	+	9	is
19	and	that	adding	19	is	the	same	as	adding	20	and	then	subtracting	1.	This	method	is	known	as	the	addition	by	compensation	strategy.	To	learn	more	about	this,	see	our	lesson:	Addition	using	the	Compensation	Strategy.	26	+	10	+	9	is	the	same	as	26	+	19,	which	is	the	same	as	26	+	20	then	subtract	1.	26	+	20	=	46	and	then	we	subtract	one	to
compensate	and	we	get	45	as	we	got	before.	The	perimeter	of	this	irregular	pentagon	is	45	m.	The	method	for	finding	the	perimeter	is	generally	the	same	for	all	of	our	irregular	shapes.	We	move	around	the	outside	of	our	shape	and	add	up	the	outside	edges,	crossing	them	off	as	we	add	them.	Remember	if	there	are	multiple	sides	that	are	the	same
length,	a	strategy	can	be	to	use	multiplication	instead	of	adding	them.	We	can	also	look	for	multiples	of	ten	and	number	bonds	to	help	with	our	addition,	along	with	the	strategy	of	adding	with	compensation	if	we	have	to	add	a	number	like	9	or	19.	
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